19) mzZHG = 11x—- 1, mzZIHZ = 24°,
and mzIHG = 12x + 13. Find mzIHG.

“

MLGANT = ml GHE+ml2HT
);[;(“3::.“?('( + Y
[Ax+15 = [[x+25
X +l15=25
X =10
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= (33

20) mzGFN =4x + 10, msNFE = 14x + 3,
and mzGFE = 157°. Find mzNFE.
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A lighting designer is finalizing the lighting plan
for an upcoming production. The spotlight can
rotate 25° to the left or right from the center.
The beam of light from the spotlight forms a 22°
angle. Can the designer use the spotlight to
light each of the objects on the stage?
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Congruent Segments and Congruent Angles

Segments that have the same Angles that have the same measure

length are congruent segments. are congruent angles.

" §  ABEXD £TUV = £XYZ
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The same number of tick marks

shows congruent segments.
The same number of arc marks
shows congruent angles.
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) AfmszXWZ =127, whatis mzZYWV?
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32+ P 4+y= 127
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X= 6D
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B. What is HF?

SOLUTION




6.a.1f mZNOP = 31 and mZNOQ = 114, what is mZROQ? 4 I
N

0
X+x+3si=11Y

Qtdl=11Y



